
myF : 21 tl;l ehw;gf;fy;fs; 
 
Njw;wk; : 
 
xU tl;l ehw;gf;fypd; xUgf;fj;ij ePl;l cz;lhFk; Gwf;Nfhzk; mjd; mfj;njjpu;f; 
Nfhzj;jpw;Fr; rkdhFk;. 
 
     
     HAD = BCD 

     ABG = ADC 

     EDC = ABC 

     BCF = DAB 

 

 
cjhuzk; 1 
      
     x = 95  (xU tl;l ehw;gf;fypd; xU gf;fj;ij ePl;l 
      cz;lhFk; Gwf;Nfhzk; mfj;njjpu;f; 
      Nfhzj;jpw;Fr; rkd;) 
       
       (kpif epug;G Nfhzk;) 
         73 + y = 1800 
              y = 180 - 73 
                        y = 107 
 
 
c+k; : 2 

 ABC = CDE vd epWTf. 
      juT = ABCD  Xu;tl;l ehw;gf;fy; 
          AD MdJ E tiu ePl;lg;gl;Ls;sJ 

     ep.Nt/J = ABC = CDE 

    epWty;= ABC + ADC = 1800  (tl;lehw;gf;fypd; vjpu;f;Nfhzq;fs; 

      ADC + CDE = 1800  (mLj;Js;s Nfhzq;fs;) 

     /  ABC + ADC = ADC + CDE 

      ABC = ADC - ADC + CDE 

      ABC = CDE   

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk; : 11 
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thuk;  - 25 



 

c + k; : 2 

tl;l ehw;gf;fy; ABCD apy; AB= BC, CD=DE MFk;. DCE = 400 vdpd; 

     I.  BCA ,d; ngWkhdk; ahJ? 

 

     II.  BD // CE  vdf; fhl;Lf. 

 

 

tpil 

I. mikg;G : B, D I ,izf;f 

juT : AB = BC 

 CD = DE 

 DCE = 400 

epWty; : DCE = 400 

DEC = 400 ( apd; v.g. rkd;) 

DCE + CDE + DEC = 1800 ( m.$.njhif) 

 CDE = 1800 - 800 

 CDE = 100 

ABC = CDE (tl;l ehw;gf;fypy; Gwf;Nfhzk; = mfj;njjpu; Nfhzk;) 

/ ABC = 1000 

CAB = BCA (AB = BC) 

1000 + BCA + BCA =1800 

2BCA = 1800 -1000 

 
2𝐵𝐶𝐴

2
=

80

2
 

BCA = 40 

 

 

II. BAC = BDC = 400  (xNu Jz;lNfhzq;fs; rkd; 

BDC = DCE = 400 (xd;Wtpl;l Nfhzq;fs;  

/ BD // CE 

 

(ghlE}ypy; 21.3 gapw;rpia Nkw;nfhs;f) 


